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② Let G be a finite group of prime
order . Then ,

6 is a cyclic group .

Proof . Let 161 : P , a kime number
.

So,

there are non-identity elements in G .

Take any
such element

, g , say Conside

the cycli subgroup (g) generated by g
Then , by Logrange's theorem (g) ///6).
So
,
1831 = 1 m

. P. Since gtts,

Kgbl = P : But , <g) [G .
and

,
hence,

<g) = G . Thus
,
G is a cyclic group .

G. Any group with prime p as its order

is cyclic . What about
any group

of order p?? Not necessarily.
Consider the group of order 4 :
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